EtherNet/IP ¥
CPX-AP-1-EP-M12

1T152: 8086610

iER

FESTO

LEdE B
RY (Bxix=) 45x170 x 35 mm
ZEAR BT ML H RS E
ESEEN
RAERSE 80
FRES 1948
MERE -20°C...50°C
R -40°C...70°C
ENESEE 5-95%
To Rk
PR &R IP65
IP67
BhIRE R AR RMEANELEEE
M RS 4R CRC 1 - IS 1hag
BRABEHKE 50 m REEW

XTFRABHKENRTR

HRIBARIREB A

SHZEERESER (PWIS) Fatt

VDMA24364-B2-L

TEREER BSLENTTH, ]RIE IS0 14644-1 TEBRITHENHNFE
CETAIE (MAIEEHR) RNERBBHESMEES
CEtnic (MAEER) FAHEEEMCES
KC #ric KC-EMV
INIE RCM FEFR
c UL us iAIE (OD)
IERE RN ULE239998
A RH5EER RoHS &1
SR PA
PC
[, IR
O B FPM
W@IY LED 2 BMERANIZE

LIRS Ethernet/IP
IR, BFIofE/ (&g
ak=zzh

RFisHn

EEHP

2025-2-14 - BT SHESOASBITIEA - Festo SE & Co. KG



5 B

B S &2 APDD F53
BT
5 AP iEHUE (S T
Ao/ ERSEBETS
hEBELS
BRI/ e RS R E
B EBE

FRAEEEIZH RHREEIR
WUHRER/SEH
LRSS RIS RG /1T 2
TEEIRR &

MinE&EO PAK M

WAL, i’ EtherNet/IP

MinELL, O 2x $HRE

WAL, EERR M12x1, D 4wmi8, &F& EN61076-2-101 FriE

MinEek, EOERX 4

MipR&EO, BERE 2

MipR&EO, EamRE 100 Mbit/s

BRAMIIEE, WA 1324 Byte

BAMIIEE, #H 1324 Byte

EEYEF EDS {4

\EEO, hee RZE(S XF20 OUT / XF21 OUT

\BEEO, BEORE 2x $EHRE

BEEO, EERAR

M8x1, D 4wmiE, IRHEEN 61076-2-114

BEREO, WRE/TEEH

4

BEEO, ik AP
BEEO, wHEk 2

BIR, Ihae

BT oi/E RSB MR AN RR

MR, Bk

fhk

MR, EERR

M8x1, A#miE, RF& EN61076-2-104

IR, EOR

4

BhfEm, Ihak

FEF i /(& SR A S ey HH FE R

HEE, EOXE

e

BAOfEm, EERA

M8x1, A%R3, & EN61076-2-104

BAOEm, /T

4

BXIEBRERAE = SELV/PELV EIEEIR
AR ERER

RERRIR TERE, BR 24V

TR ST R R ) +25%

IMRERILEEBE, BFRM4/ERER 24V

BFIRE/ERRIAIVFRIRERN +25%

RAER

2 x4 A (REIMNBLRIEL)

FBFIRE/MERFIE LIFBENNEGBREE

BE 90 mA

FRAR TAEEBE R B TR AL

BERU(EDY 5 mA

R R E 10 ms
R MERP 2

2025-2-14 - BT SHESOASBITIEA - Festo SE & Co. KG




